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1 100kN/MZ#B % % — -~ = —|3mZEBRE| — ~ - - —| 100kN/mMZ#B %% — -~ — —|3m%EHBZS -~ — - -
Thilst 1.00 [ 000 ~ 6.10 90.55 | #h st | 0.00 ~ 6.10 | 2.06 9.08 Thilst 100 | 500 ~ 11.73 9055 | #hLlst | 500 ~ 11.73 | 2.06 9.08
9 100kN/m%H#BZ % - -~ — —|3mZEBAD -~ — — —| 100kN/mM%#B 2% — -~ — —|3mZEEAD -~ — — —
Zhn Lt 1.00 ] 000 ~ 645 96.10 | Znlist [ 000 ~ 645 | 2.17 9.56 Zhn Lt 1.00 | 500 ~ 12.00 96.10 | Znlist | 500 ~ 12.00 | 2.17 9.56
3 100kN/mM#ZH#BZ % 1.00| 000 ~ 0.77 113.05 |3m%i#BZ % -~ — — —| 100kN/mi%#8x5%| 1.00[12.62 ~ 16.00 113.05 [3m%F#BZ 5% -~ — — —
Thilst 100 [ 077 ~ 746 100.00 | #hbist [ 000 ~ 746 | 250 10.99 Thilst 100 | 500 ~ 12.62 100.00 | #hlist | 500 ~ 16.00 | 2.50 10.99
4 100kN/m%H#BZ % 1.00] 000 ~ 0.60 110.06 |3m%x#BZ 5 -~ — — —| 100kN/m%#8 x5 | 1.00|12.74 ~ 15.25 110.06 |3mZ#HB %% -~ — - -
Zhn Lt 1.00 ] 0.60 ~ 7.28 100.00 | 1Ll | 0.00 ~ 7.28 | 2.55 11.23 Zhn Lt 1.00 | 500 ~ 12.74 100.00 | #1ist | 500 ~ 1525 | 2.55 11.23
5 100kN/m#%#8%%| 1.00]|000 ~ 0.75 11273 [3mZBRBH| — ~ — - —| 100kN/m%#8%% | 1.00 [15.32 ~ 21.75 112.73 |3m%Z#BZ 5 -~ - — -
ZH Lt 100075 ~ 744 100.00 | Zhllst | 000 ~ 744 | 251 11.06 ZH Lt 1.00| 500 ~ 1532 100.00 | ZnList | 5.00 ~ 21.75| 2.51 11.06
6 100kN/m#E#BZ % - -~ — —|3mZEBAD -~ — — —| 100kN/ Mm%z 5 - -~ — —|3mZEiEZD -~ — - -
Zhn st 1.00 1 000 ~ 6.08 90.24 | ZxnLLl4t [ 000 ~ 6.08 | 2.04 8.99 Zhn st 1.00| 500 ~ 11.97 9024 | Zhlist | 500 ~ 11.97 | 2.04 8.99
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#B 2% ~ ImEHBZS ~
Thilst ~ ZhLst ~ Thilst ~ Zh st ~
100kN/m#EH#BZ % ~ IMEEZD ~ 100kN/m%#8 2% ~ ImEBZD ~
Zh st ~ Zh s ~ Zh st ~ Zh s ~
100kN/MZ#B % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Thilst ~ Zh st ~ Thilst ~ Zh st ~
100kN/m#%H#BZ % ~ IMEHEZD ~ 100kN/m%#8 2% ~ IMEHEZD ~
Zh st ~ ZhLst ~ Zh Lot ~ Zh st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
Thilst ~ Zh st ~ Thilst ~ Zh st ~
100kN/m%H#BZ % ~ IMEHEZD ~ 100kN/m#%#8 x5 ~ ImEBZD ~
Zh st ~ ZhLst ~ Zh st ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Thilst ~ Zh st ~ Thilst ~ Zh st ~
100kN/m&H#BZ % ~ IMEHEZD ~ 100kN/m%EH#BZ % ~ ImEBZD ~
Zh st ~ ZhLst ~ Zh st ~ Zh s ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZThLlst ~ ZH LS ~ Zh st ~ ZH LS ~
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